Multiplication par 10* (G)

72 x 101

32 x 10 =

69 x 10 =

71 x 101 =

5x 10 =

81 x 10 =

1x10t=

9x 10 =

46 x 10' =

92 x 10 =

Trouvez chaque produit.

49 x 10*

82 x 10! =

49 x 10 =

34 x 10 =

98 x 10*

76 x 10!

77 x 10*

65 x 10*

26 x 101 =

93 x 10 =
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Multiplication par 10" (G) Solutions

72 x 10' =720

32 x 10' =320

69 x 10* = 690

71 x 10 =710

5x 10'=50

81 x 10' =810

1x10'=10

9 x 10 =90

46 x 10 = 460

92 x 10* =920

Trouvez chaque produit.

49 x 10' = 490

82 x 10' =820

49 x 10* =490

34 x 10' =340

98 x 10* =980

76 X 10* =760

77 x 101 =770

65 x 10 = 650

26 X 10* = 260

93 x 10 =930
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